Yo

TI6FIE HREEIE®FEIZONT

ANFRe AT e Sy
TG ERREE

Kt [X 4, NI HiE2W &
E B 273,220 M 27,400 1

& mT 70,000 M 7,000 M

= IR 377,000 M | 37,700 M

sk 559,200 M4 (s6,000 @]) (A 1= ¥R
& H 679,650 1 68,000 T} z 1%
B R 366,350 M 36,700 [

% 3 200,000 M | 20,000 [9

] B 314,006 H4 31,500 H

& &t 2,839,426 [ 284,300 [

ARESAOHEEH .fé% RS TIMASETWEREEELIZERY,
ERFED10%zHIa2W HELL TRFSETOKEERT

CBINTEERICHOBEITIVEL

T TR kiR S aaReE



SHeEE BFRITTHEEHFE EHE
ERTHEX
BAS4A EiE%8 X fHE8
E EE 50, 000 M 5, 000
e ] 20, 000 H 2, 000
& &t 70, 000 H 7. 000
SH6EE HFRTBHEESESE EEE
=I5 th X
BAL4 EHE%E X{tEE
Rk 280, 000 H 28, 000 H
Bl 67, 000 H 6, 700 H
THE - %l 30, 000H 3, 000 H
B 5 377,000 H 37. 700 M




